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ACCOUNTING FOR MANAGERIAL
DECISIONS
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Note :  Attempt all the questions. Options are internal.
Qug-AH
Section-A

(TS wy )

(Objective Type Questions) Sx1=5§
1. T I &1 999 HIFWT ;

Choose the correct answer :
(i) = 1 3 $19 T yEyHg daifafy s I
TR 2-
(31) HHEE GEEH @i
(9) wHrg enrd fafa
(|) a9 fEEm
(z) foig e
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(1)

(1i1)

3y

Which of the tollowing is not
Management Accounting -

(@) Human Resources Accounting
(b)  Standard C osting

(¢)  Budgetary Control

(d) Decision Accounting

SIS RIS ECIc) S FAT Y T

(2) Iwdsa w4t

Profit and Loss Account is also known as —
(2) Statement of Earning

(b) Statement of Income

(c) Statement of Operations
(d) All of the above

3fe 4 %1 39w fag 7 2,40,000 A1 37r9d 2R

%40,000 & 1 3719 TgeHt arafy g
(%) 45feq

(A) s55feq
(A) 61fea
(z) 737

* 320204
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(iv)

v)

[f credit sales for the year is T 2.40.000 and
average Debtors T 40.000 then the average
collection period will be -

(a) 45days

(b) 55 days

(c) 61 days

(d) 73 days ’
19 AR fFa % F=ra H T= FH AY
T 8-

@) e

(&) =a gHfaal

(@) v .

S . 1 d Flow
The term ‘Fund’ as used in Fun

Statement means —
(a) Cash
(b) CurrentAssels. '
-} Current Liabilities o
23 Current Assets - Current Liabilities

ﬁaﬁf{'nﬂ@m%'
@ femfrE
() W&?ﬁ?‘q\?ﬁwu
(@) faquA ga8

(@ o s
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Capital Budgeting s a part ot
@ Investment Decision
(B Working Capital Management
() Marketing Management
W) Capital Structure

WUE-q
Section-B
( Y IET e )

(Short Answer Type Questions)
TRYETE S St 5 favarst 1 9=t wifvg
Discuss the characteristics of Management
Accounting.

‘e

. FYAT / OR

VEYRTE wE A F R 1) we ST |

Explain the objectives of Management Accounting.

faia faamo it worfa s

What is the nature of financial st
HYar / OR

I RN R AR Y g
EET - ﬁwﬁh%mm

What is ratio ?In what w

-

atement ?

X ays jt can be shown
4. TN vAR faam 3 IR F o wif |

Discuss the objectives ofFund Flow St

Y|qr / OR

atement.

® 320204 «

§x2=10

h

6.

]

afarer fawmsil & TwE g & T ¥ mﬁ? ?

How is cash flow calculated from operating

activities?

doft wrre ¥ JRen w1 ¥

What are the main Objectives of Capital Budgeting”
3rgar / OR

arert srafw fafsr wawrse

Explain Pay-Back Period Method. ,

IR HR) w1 arianil HIfTT

_/(}lussit‘y responsibility centres.

rerEar / OR
WS AT} e ¥ 2
What is meant by Management Audit ?

@ ueg-|"
Section-C
(S 3w 0T wed )
(Long Answer Type Questions)

YU @R W 379 91 R ¥ 2 s9F quwe v
AR T HIFAC |
What do you understand by Managenient
Accounting? Explain its importance and need.

Huar / OR

§x5=25

* 320204 ¢ P10,



R .

6
TEAYHEY EFA T8 TR NG asn fyedhon
TEFA o e Wy wHEU
What is Management Accounting” Distinguish
between Management Accounting and Financial
Accounting.
foreTe frr fverm @ s s W §7 fard fererm
* T ¥ e wifw
What do vou understand by Financial Statement
Analysis? Discuss the importance of Financial
Analysis.

et / OR
31919 2020 F1 1. 3R fafaee 1 fag freifirg o .

fergr

| =fa T ol | %

| S 2,00,000 | Tfd 1,20,000
1 AU A 58,000 | AYRH 1,50,000
CE T ' ’
| 1,00,000 | Wy 80,000

| R 40,000 | TER 45,000
| Tz fqys ,
il 20,000 | BEE AHT | 17,000
| = | 2,000 THEFIHE | 8,000
L oam
3 4,20,000 | @ 4,20,000

a'a? faz ¥ 4,00,000

frx #1 o 3 2,40,000

® 320204 o

e s =

/
SR st spp 1 e e 2
(31) T N 31T
(/) e HE
(%) 1 2
(7) W AEd AT
(3) rHd wgef st
The Balance sheet of D.R. Ltd. as at

31 March 2020 was as under.
Balance Sheet

Liabilities ? Ases | 2

Share Capital 200000 | Goodwill | 120000
Reserve and Surplus| 58.000 Machinery | 1.50.000
Debentures 1.00.000 | Stock | 80.000
Creditors 40,000 Debtors 45000 |
Bills payble 20.000 Cashinhand | 17.000 1
Other Current Cash at Bank{ 8.000 .
Liabilities 2,000 {
Total 4,20,000| Total 4,20.0055
Sales for the year ¥ 4.00.000

Cost of sales T 2.40.000

You are required to calculate the following ratios—
(a) Gross Profit Ratio

(b) Liquid Ratio

(¢) Current Ratio

(d) Stock Turnover Ratio

(¢) Average collection period

© 320204 ¢ P.T.0O.
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- - - -
=== OR RN W \.$ 25 W\ S PR >
b E - Nha { LA CUN W e N AN W
= TE = SN e TEI T ST i Share Coin L AR (AW WA
-” h » n?( BN
INERAN MM W Domcaiee | AW W
7= 330% | 3300 = N B CroaRy AL N R U TN MAN MW
I R b paade | R TR S BN VM
L TREN

L4 Ed) & | @

- AL L0 TR T j LCC.J.\:‘ 2800 LY LR
’ G oo lanl W wWmaw

ez -- o0l % o [
F el 2 00 EEER 20
W

T 220.000) 204000/ 95 T | 160000 16000 | I L LS. i
: 140,000 | 1.60.000 Tonal SN RN Tl Bl
70,000/ 1,20,000
60,000  80.000
1,00,000| 1,20,000

5,30,000 (6,40,000

10. o0 SO R 3 0 R R T A o e
7 OO R | ) R e e
What do you mean by Capital Budpeting *Hvamine
its need and importanee. What are ity praciival

utilities?
avEr/ OR

s 3204 1
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2 RaeTed & way § fns fygo § .

RUSISEINE S E0 S TR
TRAST I EE 1,60,000 2,00,000
A S9N 16,000 25,000
T 990 §79 ¥ @ TF L H wEIq
Y- 1 20,000 40,000
8- 2 20,000 60,000
I9- 3 50,000 60,000
-4 50,000 60,000
F§- 5 40,000 30,000
FW- 6 30,000 20,000
TY- 7 10,000 -

The following are the details related to two
projects :— _

Project ‘x  Project ‘y’
Cost of project  1.60.000 2,00,000
Estimated Scrap 16,000 25,000 -
Estimated Savings before depreciation and after tax.

Year — | 20,000 40,000
Year -2 30.000 60,000
Year - 3 50.000 60,000
Year - 4 50,000 60,000
Year - § 40.000 30,000
Year - 6 30.000 20,000
Year -7 10.000 -

* 320204

11.

I
S 5 A 1o i e e FA
B i g,
Calculate Pay-back period and consider which
project is better.
AU et g A T gz ¥ yay F A=
W HNH A A Ul rae 7 £7
What do you understand by reporting to
management? Which reports are submitted to
various levels of management ?
_ _qYgar / OR
" JSHRIA WiTeeT s’ = ) W ¥ g
TRl 1w o i
What is “Managerial Reporting System™ Discuss

in brief, the main types of reports.
00
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ENTERPRENEURSHIP SKILL
DEVELOPMENT

Time Allowed : 3 hours | Maximum Marks
Regular/Private : 40/50
Minimum Marks : 14/18

e : wWrarh Wt % fag qufs 50 3 g, @vs 31’ 5,
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Note : Attempt all the questions. Options are internal.

ues-H
Section-A

(TS U9 )

(Objective Type Questions) Sx1=5§
1. HE I« H =TI FHifSC :

Choose the correct answer :

(i) “Sof M F FAH M e’ T8 HUTE -
(3) diX (9) .= 9
(9) gt (g) e

® 320203 P.T.O.



-~
s

“Entrepreneur is the captain of Industry™
statement is of —
(a) Peter
(b) JB.Say
{(¢) Schumpeter
(d) Marshall
(ii) ¥ wieel 1 FR 2
(31) =
() vf=
(|) ™™=
(7) W@
A leader guides because of -
(a) Authority
(b) Power
(c) Influence
(d) Fear

(@) drEETe

(=) T srafe & ferg
Planning is —

(a) Short term

(b) Middle term

(¢) Longterm
(d) For all terms

. 2409011 o

(iv) Jiftrn & foo A v@d 2 -

™)

(31) tfa®
(&) v
(|) FAATH
(=) 398 = T
For Entrepreneurship innovation is—
(a) Voluntary
(b) Necessary
(c) Unnecessary
(d) None of these
st et faere e fee @ -
(1) TN
(&)
(|) STRHER
(7) SEeg

Indian Institute of Entrepreneurship
development is situated in—

(a) Indore

(b) Bhopal

(c) Ahmedabad

(d) Jabalpur

« 320203 * PTO.
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Section-B
(oY I Wy )
(Short Answer Type Questions)
ST =1 gt S
Define Entrepreneur.
IYar / OR
TS wafaR ) gRsfyg iy |
Define Socio environment.
RIERIRERS Crig:s )
What is business opportunity?

JHIar/ OR
AR T F 19T 7 S 2
What is meant by external environment?
TAER § 39 1 391 22
What do you understand by innovation?
AYar/ OR
AN & TR THaRT |
Explain the types of Entrepreneurship.
Seifuan faema Frdsrn a2

What is Entrepreneurship development
programme?

AYAT/ OR

* 320203 »
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5
Explain the process of Entrepreneurship

development programme.

vk fifa it fardrard T
Explain the characteristics of industrial
policy.
AAgar/ OR
QY T S @ 22
What is Khadi Village Industries Commission?

Wus-v9
Section-C

(3rd I W )
(Long Answer Type Questions)

et aRuT ST TE IHe i S EHERT |

Define Entrepreneur and explain its functions.
AHar/ OR

Y7 Q I T GER §? TF FHA W

SYa TN <h U HIfSTT

What do you understand by Leadership?

Describe the essential qualities of a

successful leader.

© 320203 ¢

5x5=25
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6
snfefer e R o9 0 wOE 7 9 W Wl
fag=m #ifsu)
What do vou understand by Economic force?
Discuss its factors.

3reEt / OR
T T THR F W0 F q9 -
F1 &H @ 9ieT?
What facts should be kept in mind while
establishing a new unit?
I F IS ST Bl GIART |
Explain the social responsibilities of
Entrepreneur.

3rer@ar / OR
TS AFER 1 87 39H! faviwaei &t
fasem =ity
What is Entrepreneurial Behaviour? Discuss
its characteristics.

afam fawm FEFT A F1 aWE 27 TEE
w73 favmanst #1 fag=m sife

What is meant by Entrepreneurship
development programme? Discuss its major
characteristics.

3dgar / OR

® 320203 ¢

11.

7

e # Fafta ferd 29 A7R7 Z7 3210 T
el Y e i)

Describe the steps undertaken by the
government for entrepreneurship development

in India.

ST o 1 sremon #2735 (I

Fedll ol qIAEY |

What is the concept of industrial

development? Explain its determining factors.
Jgar/ OR

forapra Sfshm 7 &7 3wt fardraanet &1 faa=rT

HifST |

What is development banking? Discuss its

characteristics.

00

® 320203 ¢

o T N



Printed Pages- 12
{

© 320202 e
M.Com. (111" Semester)
Examination, December 2022

M.Com.
PAPER - 11
TAX PLANNING AND MANAGEMENT

Time Allowed : 3 hours Maximum Marks

Regular/Private : 40/50.
Minimum Marks : 14/18

AT weAr Tt & fo ot 50 sim @, @me a5
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Note :  Attempt all the questions. Options are internal

Wue-H
Section-A
( TS 99T )

(Objective Type Questions) Sx1=5§
1. W I & 997 FHIfAC

Choose the correct answer

(i) FAAEAFIIEE T -
(3) FXFHH G T4
() A F =AqH FH]
(A) TH73 9 GFA
(2) & FI 2
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(1)

_(iii)

-

Objective of Tax Planning is
(a) Avoidance of Tax

(b) Minimise of Tax Liability
(¢) Paymentotf Tax ontime
(d) Determent of Tax

TfER #1 3F F 70§ e e e ¥ -
() we= = =fFaa 33

(3) fer# Ff yfg =t em

(]) ST ™

(T) I g4t

Not included in computation of Family's
Income —

(a) Personal income of members

(b) Family's agricultural land income
(c) Income from Stridhan
(d) Allofthe above

S F9a TR ] e wfafian 5
C i IOAAE’WWETWW-
(7) 599 F fau

(F) 10310 % fom

(F) 151 % fo

(%) =mifom srafy & fon

320202 »

(iv)

(v)

On tulfilling certain conditions, for an
undertaking set-up in special economic
sone deduction under scction 10AA of the
Income Tax Act is allowed for —

(a) 5 years

(b) 10 years

(¢) 15 years

(d)  Unlimited period

A FEAT B T A E -

(31) 3 YAl 9 A3

(&) SR &1 3F

(F) Ioit TH

(7)) =K AF

Dividend from Indian company is —

(a) Income from other sources

(b) Income from Business

(¢) Capital gain

(d) Exempted Income

HiTeR gr gAf=R fFm S g -

(31) QM1 F AT T

(9) TS 1 B GG ATel 3RY W
(%) i feafaai &

(7) = Fauio sifasr &1 W W
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Revision by Commissioner will be held-
(@) Onthe application of Assessee
(b)  On order prejudicial to Revenue
(¢) Inboth situations

(d)  Onrequest by Assessing officer

Qus-d
Section-B
(Y IHTT U9 )
(Short Answer Type Questions)
= a3 T 9w = s 2
—What do you mean by Tax Planning?
dgar/ OR
"= R = e At @ o @
“Tax Planning is a legal and moral way of Tax
saving”. Explain this statement.
A T Ao fafy gaemn

Make or Buy decision™ Explain the procedure
for taking decision.

Y941/ OR

* 320202 o

5x2=10

I3

mﬁmmmm%ﬁuﬁdﬁwﬁdm%

o o fefam
Write about Tax Planning in respect of shutdown
or continue the Business.

4 s wAfuftam 9 Fasenfm IUFT F 9= o

!JI

uRl 80IB F Havia FfaAl F AU 1 W
EAiE e
Clarify the provisions of Income Tax Act ws
R0IB regarding deduction for newly set-up
undertaking.

AHgar/ OR
SMRYA Graesi § Hafud F:= A F 9&
fafau)
Explain the Tex planning provision in respect of
Infrastructure Facility.
Explain Capital structure in case of a Partnership
Firm. V

AHgar / OR
FEOHT S T F A HAH WA F T

iU |

Clarify the Provisions relating to laxability of

company dividend.

P.T.O.
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W maﬁua-.‘{ﬁufrwm%“

FUAT / OR
FIETTR (ST & e 70 9 9 9wy
¥ wmEET
What are the various appellate orders to
Commissioner (Appeal)? Explain.

Qus-|q
Section-C

(3rd 3T UeA )

(Long Answer Tyvpe Questions) Sx

¥ Farss = sow = sy 2 EZRERIFCicS
9E 351 w1 faa= =it
What do you mean by Tax Planning? Discuss the
main objectives of Tax Planning.

HIaT / OR
?%?W?‘mwrwm Fifeu |

Give an account of recognised methods of T

HAN
Planny 1g.

F1E R A E T I A

=3 IR ]

® 320202 »

e e ——

4
]

Discuss the main points regarding selection of
form of organisation of new Business from Tax
Planning point of view.
Hg4AT / OR

FHEH! TEE § @ 916l U 399 (FEE2) F
A T el ¥ A AN A FT FGFA D
TS WA A =, T @ 21.00.000 2
Td SaehTal 10 99 81 | 3{e | o = 35
Wl P2 WEM I FLFI a9 71 921 F 912 I3
T 280.000 BXfT |

T& g9 § 25.000 FOHS 591 F fou 3= =iv|
=1 @rra =y g -

(1) | 25.000 .9, o3 32 wia feemm |
(2) =9 50.000 =2, s\ T 0.30 Ffq =oaT |
(3) ®REF &1 a6 21,500 FfaamE |

(4) = gREdea =3 320,000 |

A IWE FEHE W T F WH W AW §
TE 91 € 91 98 SR § 34,30 wid wee =
WH ST € |

FEHE @ T1F A1 HF FA, FMH -G 9GS

Tem? 3fe faum Beim W a9 S a A W
gm?

* 320202 ¢
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N
Pravesh 1td. manutacturers electric pumping
sets. The company has the option to either make
or buy from the market component used in
manutacturing ot the sets.

The component will be manutactured on new
machine costing I1.00.000 with a life of 10
vears. While after deducting tax saving in respect
of depreciation allowance net cost will be
TR0.000.

Other cost for manutacturing 25.000
component in a vear will be as under :

{1) Material 23.000 kg.. rate 32 per kg.

(2) Labour 50.000 hours. labour rate 0.30 per

hour.

(3) Foreman salary ¥1.500 per month.
(4) Other variable expenses 20.000.

I the company does not manufacture himselt
the component is available in the market at Z4.30
per piece.

Will it be profitable to make or to buy the
component? Does it make any ditference if the

component can be manutactured on an existing
machine?

* 320202

10.

9
SR 1 UE T A < H e e Framferd
o7 1 g T T A wfafm F gEaE
#F fag= FfA0)
Discuss the provisions relating to set off of
accumulatéd losses and unabsorbed expenses
in case of Amalgamation.
et / OR
foroforai fafam :
(31) 3MURYA HE % fawE 7 T 39HE
(3) fose i & 3 = IR
Write notes :
(a) Undertakings engaged in development of
infrastructure
(b) Undertakings set-up in backward industrial
areas

. Tge 2nETE 9 24.00.000 §F F W T,
578 W 5.75% F T =ik = e 8 198
T SR T @ 13 | 30 2021 F FEEA
Tt ¥ ferw 24.00.000 F1 Sl € 1 786 o
3T To Frefated fawea © -

(1) e o v afe s e,

(2) TH EEAE FA F 7.5% I @ Y A

S T TF

* 320202
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IR R fawes W wwn ey afz sq9
SR F 3777 (=9 F) VeI
(30) 32.50.000
(&) R2.27.000
(¥) ¥2.90.000

ITAF FT FIHF T 2.5 @ HHEF ]
ey T .
Mr. Rahul Agarwal has a bank deposit of
$4.00.000. on which receives interest ‘@3.75%
per annum. He is operating a business. He needs
< 4.00.000 for working capital on lSlApril 2021.
He has following alternatives for that :
(1) Withdrawal of Bank deposit.
(2) Borrowing from a Finance Company

a 7.5% per annum
Which alternative he should choose if

this business income (excluding interest)
will be -

(a) 22.50.000
(b) 22.27.000
(c)  22.90.000.
Give vour advise assuming that tax frece limit
of Income Tax is 22.5 Jakhs,

Agar / OR

* 320202

11.

1

foroafor feafau (#12 21) -

(1) enaiw ifa

(@) I i

(|) @Hg F9

Write notes (Any Two) :

(a) Dividend policy

(b) Inter company dividend

(c) Bonus shares

=1 <oneti § stdeve R % T § AEEs

A &% UMl &1 9uF HIT -

(%) fruif w73 & 32 3@ =1 f5ao ofa=
T T HE |

(9) A YA A A9 33 F faa770 5 33
# T T F & A W o

FEN
(|) @mmwww;qﬁvm“’*—w:
& FAT

(7) 3 feum & foqu

(3) 3TTH A WHF FI Fd1 I 557711
Discuss the provisions of Income Tax Ac:
regarding penalties to be imposcd in the
following cases :

(a) For failure to furnish return of the 1ota!

income within the prescribed time.

* 320202 »
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(b)

(¢)

(d)
(e)

12

For failure to comply with notice to

produce books of accounts or evidence in

support of his/her return.
For failure to get his/her accounts audited
as directed.
For concealment of income.
Failure to deduct tax at source.
3Ygar /. OR

R TS Y SATYHT 1 3T &2 T YS9 & &7 H
faa=1 ifST tg = fEeH ©6 =R gy § =1
e Hifsa |

What do you mean by Tax Management? Discuss

its scope and distinguish between Tax Planning

and tax Management.

XX

e 320202 ¢
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ﬁz:m@qﬁaﬁﬁf%mmso 3% &M, WUs ‘- 3,
TS 'F'-15 TS @US ‘F'-30 37 =1 20 |
M T g fErd § | fawey srafin &)

Note :  Attempt all the questions. Options are internal.

Ques-A
Section-A

(T ueT )

(Objective Type Questions)
1. HE I &1 999 HIFIC ¢

Choose the correct answer :
(i) =ifersran oy fagia w1 gay & -
() Aashay &y
() =gATH AT W I
(§) IcUEA FeTd &l TFHedd &R
(7) I9TEd g4t
* 320201 ¢ P.T..
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T TR TN SRR S R B SRRy QR " T TR

(i1)

(ii1)

5

Profit Maximisation Principle is related to —
(a) Maximisation of Profit

(b) Output on minimum cost

(c) Optimum level of Output function

(d) All of the above

(31) Taa

(F) T

() =

(3) wEmEa faz

The exponent of Revealed Preference Theory
was —

(a) Robertson

(b) Samuelson

(c) Marshall

(d) Manmohan Singh

FTe IeTeA FeAd i g 2 -

(#) sfEdeia sram & g

(F) M =1 9fawa

(®) 3Igfd 7| fam

() 378 A *E T

Long term Production Function is related to -
(a) Law of Variable Production

(b) Returnto Scale

(¢)  Law of Diminishing Returns

(d) None of these

* 320201 o

(8]

(iv) SETIR =% I T § -

() g

(7)) famm

(8) FF=

() 9l gt

Phases of business cycles are -
(a) Revival

(b) Expansion

(c) Recession

(d) Allofthe above

(v) o & it fagra feam faan -

(37) amER () Fmh
(|) A13e (7) T
Dynamic theory of profit given by—
(a) Jalker (b) Clark
(¢) Knight (d) tawley
Q|us-d
Section-B
(Y It 99 )

(Short Answer Type Questions
YagHA AT F gfarfaa Fifa
Define managerial economics.

argar / OR
Ty -Hraid fagid =1 9z

Explain the Equi-Marginal Principle.

* 320201 <

)

5%2=10
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A
o ¥ frm &) smen Hifav )
Explain the law of demand.
3|t / OR
Fovhe & v wqe ) W e

What are the conditions of consumer’s stable
equilibrium?

IARA T F1 fodwand gEeEy)

Explain the characteristics of Production
Function. ’

3ar / OR
I % fram fF e F g 7
How many types of law of production are there?
SR T 1 fagwan @ #ife
Mention the characteristics of Business C ycle.
3tear / OR
AR w3 T fes 3 @ forerd oy 2

What conclusions have Hicks presented on
business cycle?

4 SRR Hify @
What is Profit Maximization Theory?

- dq9ar / OR
SEH qen siftfiman 3 siqy FHife |
Distinguish between Risk and Uncertainty

* 320201 o

5
Uz
Section-C

(& IFE U9

(Long Answer Type Questions) 5x5=25

FEET AGIITT B AT PR A E) G
What do you mean by managerial economics’
Discuss the nature and scope of managerial
economics.
Fgar/ OR
IS ! AT HifU |
Who are managerial economists? Describe the

responsibilities of managerial economist.

ISysiEn #1 g ®1 gfonfia w90
Susiva # wresifivenar w1 9fEE T HiE)
Define Consumer’s sovereignty and explain the
limitations of Consumer’s sovereignty.

3tgar / OR
Wehe 31 fagia il STeraTeT WA ST |

Critically examine Revealed Preference Theory.

* 320201

PT.O.



10.

11.

6

i S T Ihg
WIS 37 i vt i
Explaining the law of diminishing marginal
return. describe its limitations.

@t/ OR
I ¥ e R s s s ) T Feis
T T Fife)
What do vou mean by “Returns to Scale’?
Mention the determinants of it.

FW FU I

SR =5 § TS 9 2 SR T )

FA F 4R e

What do vou understand by business cycle? Give

the measures of controlling business cycles.
g4t/ OR

FTH & SR 9% (G570 #1 Ao omen

FifeTy |

Describe critically explain the Keyenes theory

of business cycle.

@ ifaai 770 7 @y i % sgeva vd g
HHAET

What are profit policies” Explain the objectives
and limitations of profit policies.

3Hgar/ OR

* 320201 ¢

Fxplain risk and uncertainty in business. What
are the areas of managerial uncertainty?

L X
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